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Precalculus

3.3 Piecewise Functions

Name:,

Quadratic Function:
f)=@x=-22+1
>

Absolute Value Function
f)=—lx+3|+2
¢

Finding the Value

f-n=
—x2-2x+8, x<-3
1 f(x)= 3x+x%, -2<x<5 f5) =
—lx-8l, x=5
f(=25)=
Graphing a Piecewise Function
Y
x
Y
—(x+1)2+7, x<2 x

3. h(x) {

iy x>4
3
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3.3 Piecewise Functions

% :
(x+3)2-5 x<-2 x
4 [(x)=i -1, -—2<x<1
—lx—4l+4, x>2
I | |
5. Write out the function of the graph to the right. A 1
f@) = H

Tell if the functions are continuous. Show any work that leads to your conclusion.

6. 7.
— 2% -x+1, x<-1 _ -x*+8, x<3 %
f(x)_{x’+612+121+11, x>-1 f(’)_{_z_sdﬁ x>3
Skillz Revieus: Solve or evaluate.
1.V=2% 2. x2-2=-100 3. (x+4)?-7=57 4.2(x-92+11=-25
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Pre-Calculus

Find the value of the given function at the indicated domain value.
—x?-5x+2, x<1 2x*-2x+1, x<-6
9@ = x-5r, 1<x<11 h(x) = 3x—x%, -3<x<1
—V3x—16, x>11 2x—|x=10, x>1
1gM= 290D = 3. hG) = 4. h(-10) =
5. g(-1)= 6. h(0) = 7. g(20) = 8. h(-4) =
[ Graph the following piecewise functions. |
9. -4, —-5<x<-3 |11
—2x—1, x<-2 _J-1, -3<x<o 2
fo) = 2 Sasxe<3 |0f@=97) g h® 3x+2, x<-1
—x+5 x>3 5, 2<x<4 (=174 x>0
J J ¥
X x| R x
12. f(x) = 13. h(x) = 14.g(x) =
—lx+2/+1 x<-1 3x+10, x<-3 -3, x<-3
-x, -1<x<2 —x?+5 -3<x<1 2x+3, -3<x<0
% x>2 2 x= —2x+3, 0<x<3
lx=3]-3 x>1 -3 x>3
4 x=0
y y Y
X X X
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Given the graph of £, write out the function’s equation. Use a linear expression (mx + b) for straight lines, absolute
values if there is a “v” graph.

15. 16.
f@) = f@) =
N -
17. 18.
fe= f@) =
| s I
L uma 0N
T
\ 2. :
- NS
. oo
[Tell if the function is continuous. Show any work that leads to your conclusion.
1 h()—{x+1' x<2 x+3, x<-1
- MO=x -1, x>2 20.g(x)={xz—x, x>-1
3 x=-1

4x2-2x, x<3 _(21-3x, x<5
2 f(x)= 10r, x=3 2.f@) ‘{ 2x—4, x>5
30, x>3





